k. Y= Sinx + cos(zx) E.y @x’z + Hy - _L
B = X 3P?
b F. %(x)= 2
L{%-[ SEC(ZW)
-y 2 2 )
C. K Ta ~ | G. h(x) = % sec(x)

D. ()= 3Un(x"+1)

H.y = Hy ot (sinax)

[, Find +he Slopé  of H

2. Find twhe instantunéous
: d*x

3, Flnd dgz of A

1. Find +he equation

5. Find +he equation  of

in tevms of «

Slope  of B

0f +the tangent fjine of D at x=|

+he pormal line of D at x=|




T. Find  equation  of  +he normal ine  hy O a4 (o)

. Find F (%)

q. Find equation of nermal tne for G at (?T)sz')

0. Flod equadion  of tangent line f0 B ooat xE




